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QUESTION 1

Which Statement Is NOT correct? 

A. Oracle Data Science is augmented with AI VM for Data Science. 

B. Oracle Data Science Is not excluded from Universal Credit. 

C. Oracle Data Science can integrate with Oracle Function. 

D. Oracle Data Science does not support per second billing. 

Correct Answer: C 

 

QUESTION 2

On a RDMA cluster, a latency test was conducted, with these results: What should you do? 

A. Nothing, this behavior is normal. 

B. Latency Is not critical, check the bandwidth. 

C. Rerun the test and see If It Is consistent. 

D. Report the higher latency through a SR. 

Correct Answer: A 

 

QUESTION 3

A Linux visualization instance Is in a public subnet with security list 0.0-0.0/0 for TCP port 22. What other rule do you
absolutely need to be able to connect remotely? 

A. Open all protocols for your specific IP address. 

B. Create a Stateless Egress rule for port 22
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C. Open TCP ports 5900 to 5910 for 0.0.0.0/0. 

D. No other additional rules are needed. It is possible to connect as is. 

Correct Answer: C 

 

QUESTION 4

What are the three components for configuring autoscallng on Oracle Cloud Infrastructure (OCI)? 

A. Monitoring Is enabled on the instances in the instance pool. 

B. The instance pool supports the maximum number of instances that you want to scale to. 

C. You have an instance pool. 

D. You have a load balancer. 

E. You have Bare Metal instances. 

Correct Answer: ADE 

 

QUESTION 5

What two types of workloads can benefit from Cluster Networking (RDMA)? 

A. Computational Fluid Dynamic 

B. Monte Carlo Risk analysis 

C. Movie Rendering 

D. HPC File Server 

Correct Answer: BD 
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